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SET -3
FHSH,
Series : GBM/1 Code No. 64/ 1/ 3
N TRIETT TS I STR-YIRAHT o TE-TE
. ;
W 37y ford |
Roll No. Candidates must write the Code on

the title page of the answer-book.

o FUA ST H A o T U0 § s U2 § € AT 2 I AATA H T |

o U¥A-UF H I T A AR T T Hig TR Hl BH ITW-IRAH % J&-TE W 0@ |

o FUNTAI A FITUTA-TTH 22 U E |

o FHUAT UIA HT I (TG I A | UEH, UI T HA1%h Havd fo1d |

o IH UFE-UF Fl UEH % oW 15 THee o wmg TS T € | 90 6l faeRer gaed | 10.15 5
feram SR 1 10.15 &1 & 10.30 a1 T BT HAA TRA-IF H UG R IH @AM &F IRE A
IT-YRTHT T hiE TR el fora |

e Please check that this question paper contains 8 printed pages and 2 pages of maps.

® (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.
¢ Please write down the Serial Number of the question before attempting it.

® 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

e (HGTToh)
GEOGRAPHY (Theory)
e gaa ;3 gue SferpaT 3iF 70

Time allowed : 3 hours Maximum Marks : 70

|
(i) ETHeI97 4 Fo122 T97 & |
(ii) @77 AT e |
(iii) T97 GEr 1 T 7 3T oTg-370F 797 & | gediah 7o 1 376 7 & | Fediah 997 7 STX 40 It
T 31fie 8l &lr =meT |
(iv) T97 G&78 G 13 oT9-3R1T J97 & | §ediah J97 3 3761 &1 & | §95 @ U 797 oo ST
v & | gedieh 79 T 3% 80-100 51 @ 37es 781 AT FEw |
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(v) T97 Q&1 14 G20 F1-371F G977 & | 9 797 5 37 &1 & | Jedsb J97 & 3w 150 151
T 3iferss 76l &T =T |

(vi) 797 G721 T 22 TAEEA % UEEIT TET AT 79T e rerarsn @ qerrd 5T
g1 08F a5 H HFE |

(vii) 3Tl {7 T fared 7o YRe & @7 F1E] 1 STR-GRAH @ GorT 37a9T & |
(viii) TEI-HAE] 3 3GTH & fog RfgeT a1 2032 3 ST Bt S7AlT 51 St &

General Instructions :
(i)  There are 22 questions in all.
(ii) All questions are compulsory.

(iii) Question numbers 1-7 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

(iv) Question numbers 8-13 are short answer questions carrying 3 marks each. Out of
which one question is a value based question. Answer to each of these questions
should not exceed 80-100 words.

(v)  Question numbers 14-20 are long answer questions carrying 5 marks each. Answer
to each of these questions should not exceed 150 words.

(vi) Question numbers 21 and 22 are related to identification or locating and labelling of
geographical features on maps carrying 5 marks each.

(vii) Outline maps of the World and India provided to you must be attached within your
answer-book.

(viii) Use of templates or stencils for drawing outline maps is allowed.

1. TR % AFAhR AT et ufe w feeel &t ferdirenatt @1 seor@ iy | J+3=1
Write any two features of rectangular rural settlement pattern in the world.

2. TR W@ ¥ A SHEE 1  aie S TR o 6 5§ a7 S ¢ 2 1
Which state of India has the highest percentage of population below poverty line ?

3. YRA ¥ 5 TR H G SAEHaH &1 Sl MG | S H HH HAl § 2 1
Which type of roads provides maximum links in India ?

4. IR H B, FHY Fa] | ST AT I HEHT & STER T IR DI | 1
Classify rainfed farming on the basis of adequacy of soil moisture during cropping
season.

5. T ¥ I U A [k STIReh SO | | U € 7 =0T H 28¥ey | 1
“The Volga is one of the most developed inland water-ways in Russia”. Justify.
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6. Tova WX W ST GUEUT % Hewqul &H o, 7 % SER ST i € ? U HRUT W HisT | 1
Why has gathering little chance of becoming important at the global level ? Explain

one reason.

7.  UREET ol | Iieteh’ R UK A’ | =1 ¢ 2 1
How is ‘node’ different from ‘link’ in transport system ?

8.  THIehUT TTHTT ot fohel diiF faIRToarat =T Su hiteTy | 3x1=3

Describe any three features of Konkan Railway.

9. TS T YHTaA T TEHHIYE 3TEAF HINTT Y 3Tk A< T T 79t o o) feAf@w 11 4+2=3

/

(9.1) I U T g | K@ TE 76 Hi TEh HiSTT 3R STH AW @y |
(9.2) TH T&T ! Tl IR TaRioaret o 3ot iy |

Study the map given below carefully and answer the questions that follow :

A
(9.1) Identify and name the canal shown in the map.
(9.2) State any four features of this canal.
e ; F=terEd uee Fae gieattad whentedt & e 7.9, 9 % ©H W e
e, Scl-He TG Fs! AT 1 fehel o [TRIoareii i e By |
Note : The following question is for the Visually Impaired Candidates Only, in lieu
of Q.No. 9.
Explain any three features of the Great Lakes — St. Lawerance Seaway.
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10.  “UFT 31X THa aHT a7 € |7 UG SIEL0N Wied 36 e i =9 T 2esC | 3x1=3

“Nature and humans are inseparable elements”. Justify the statement with suitable
examples.

11. 9RA = “Jooll UTHOT SR 3 ORI UTHIoT SiEaal” | ig aiF a8 T hieT | 3x1=3

Explain any three points of distinction between ‘Hamleted rural settlements’ and
‘Dispersed rural settlements’ of India.

12. TS T SRE T AT STeqd HiST 3T 3T A G MU oei F SR feif@w: 14+2=3

VR H H-SUFT Wl & Fawl § aRaw= : 1960-61

50 45 46
‘E%- T 2008-09
40
354
I'E 30+
254
/g' 20_
L 154
5 -
5 _
e
EiE
&

™ ol

R g s @Tﬁaw%ﬁ& T
=79 i gl

q=

FAH  wEal  FwEEA e =

e Foefmem o R WA

o % Sffve
|. 1960-61 M 200809 | Eroik )

(12.1) f@ 9-3Uam deri & Haituss g * vgfa #t fea@mr ™ ¢ 2 w9 ety § 9
iqafed &7 & b o A Ifg g € 2
(12.2) 39 Tl | el g8 WG & (oT0 SRS fhel J1 RO i AT HIWT |

Study the given diagram carefully and answer the questions that follow :

=
£ 50+ Changes in Shares of Land-use Categories in India : 1960-61 4546
20454 and 2008-09
£ 404
= 354
2304
= 25+ 23
S 20 18
‘g 15 0 12 S
=5 3
E5 il em e o ol
Forest Area Barren Permanent Culturable Fallow Current Net Area
under and Pastures  Wasteland other Fallow Sown
Non- Waste- and than
agricultural  Land Tree crops Current
Use Fall
& 1960-61 Il 2008-09 alow

(12.1) Which land use category has shown the highest increasing trend ? What
percentage in reporting area has increased in that category, during the given
period ?

(12.2) Explain any two reasons responsible for the increasing trend in that category.
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13.

14.

15.

16.

17.

18.

e ;. FAfeiad 7o hae giteattaa adientemt & fofg ve T 12 % ©F WE

e & iy SR % o Gt e s st gf wgh S ST ¥ 2 v dedt gf wahh
7T ST fohel ST RN ot ST HITST |

Note : The following question is for the Visually Impaired Candidates Only in lieu
of Q. No. 12:

Which land use category has shown the highest increasing trend in India ? Explain any
two reasons responsible for this increasing trend.

“HTY TEH0T TN, WVTI 3R FPfa o folg 9gal a1iehieh el & 1 UH Tl i et
T TG DT ST T 5 T o1 i UFT0T Gord T H FeTdah &l Tl ¢ | 3x1

“Air pollution is very harmful to flora, fauna and property.” Explain any three values
which can help in maintaining pollution free air to some extent.

GOR & fafy=t &=t o yafera Jur Hi S 6= e faerdret s auie S | 5x1

Describe any five features of plantation agriculture practised in different regions of the
world.

“ORE § SHEEI 1 G foeior, SHEE iR Hifde i s o1faes et & &
T e Tohe AT & I IUGRT ITEIN Afed T H2T 3 e it | 5x1

“An uneven distribution of population suggests a close relationship between population
and physical and socio-economic factors.” Support the statement with suitable examples.

TR ST ARE % [T o foiu STReT {6l e hRehl 1 v ity | 5x1

Explain any five factors responsible for the development of ‘Gujarat Industrial Region’.

3G AT § 1 AT & 2 PR 31y form e ol Seredor fed same ST 11 + 4

What is age structure ? Interpret with example the triangular shaped age-sex pyramid.

T e 9 1 AU € 2 9 T & IR TR 1 fo9eivor Sifey | 1+4

What is human development ? Analyse the four pillars of human development.
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19. “I@dl §8 HNT % HRUT S0~ STeT I TG FUEd; TR Bl T IS A & 17 T HI H
fogeTor HIT | 5

“Scarcity of water on account of its increased demand, possess possibility the greatest
demand in India.” Analyse the statement.

20. ¢ UM W T STH a6t SE fatye fefad & g /i R © 2 i fefd b
eIt S el fehel B SRl 3l T HITT | 1+4=5

Why do large scale industries choose different locations ? Explain any four factors
which influence the industrial location.

21, WOR % U MU AqSHITGR FEr-AEtes § e muout Simfers @eor A, B, C, D 3R E @
TEA HIST T 3Tk Tl 98 A9 &1 TS STHhRT bl 7eg 9 39 I @rer 78 3@rett o
%rF@z: 5
(A) &t § IXT I TS LT 39
(B) TaTeT Tuevl =i v &

(C) YR TR IeTAN ol AT LI

(D) S T e
(B) <NeE arg o
Identify the five Geographical features shown on the political outline map of the World as

A, B, C, D and E and write their correct names on the lines marked near them with the
help of the following information :

(A) A large country of Europe in area.

(B) Anareaof subsistence gathering.

(C) The terminal station of a ‘trans-continental railway’.
(D) A major sea-port.

(E) Aninternational airport.

e ; F=TArEd Tee hae gieaTty wianteaat & o ue 9@ 21 % ©F WE
(21.1) T % T 3F SAHS el 397 T AW [AET |

(21.2) Tates T % T U W & 1 919 ferau |

(21.3) SIS IR HeTRIUrg YoTHIT o1 Had Tiverd W9 i 1 ¢ ?

(21.4) 3feror 3R & gat de W ferd fdt e Wy TRt uae o A ferae |
(21.5) 3T o Fad RIS STRIET a1 Ta 61 19 felf@y |

64/1/3 6

Downl oaded From : http://cbseportal . conf Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/
http://cbseportal.com/

CBSE

Downl oaded From : http://cbseportal . conl

22.

Note : The following questions are for the Visually Impaired Candidates only, in lieu
of Q. No. 21 :

(21.1) Name the largest country of Europe in area.

(21.2) Name any one major area of subsistence gathering.

(21.3) Which is the westernmost station of Australian Trans-Continental Railway ?
(21.4) Name any one major sea port located on the eastern coast of South America.

(21.5) Name the southernmost international airport of Africa.

WRA & 3T T oI Y@T-THras § fFefaiad olefor ot Suger foel ¥ 39mET 3T 376
Wfi_'lf@?:

(i) aiTy® TR 5T (2011) |
(ii) =HUTE T SO IATH T |
(iti) Ta ¥ e WiRedeR HRERTEn 9 |
(iv) ST H ferd S & 7gE @e |
(v) ek § fer s oy ae |

Locate and label the following features with appropriate symbols on the given political
outline map of India :

(i)  The most urbanized state (2011).

(i1) The leading cotton producing state.

(iii)) The Software Technology park located in Punjab.
(iv) The major coal field located in Chhattisgarh.

(v)  The international airport located in Karnataka.
e ; =T T hae gieaTta wdiettemt & o ue 9e 22 % H W E
(22.1) ORA 1 Fod 3AF TRIFT T DI 91§ 2
(22.2) XA & FHUH % 0N A& T Hl A4 @y |
(22.3) USTE | T WTeeeR WEieht Uik ol A1 feAt@y |
(22.4) SETE | ferd g o T @F %1 AW fArEn |
(22.5) FAH § I AR a1 g0 61 919 folf@n |
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Note : The following questions are for the Visually Impaired Candidates only, in
lieu of Q.No. 22 :

(22.1) Which is the most urbanized state of India ?

(22.2) Name the leading cotton producing state of India.
(22.3) Name the Software Technology park located in Punjab.
(22.4) Name the major coal field located in Chhattisgarh.

(22.5) Name the international airport located in Karnataka.
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U9 ¥, 22 % ferw aetes
Map for Q. No. 22
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